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(3) The position ({if& ) of a particle is given by the equation s = (1) = 1/(1+1), where { is measured in seconds
(#) and s in meters (24§) . The velocity (G ) after 2 seconds is ?

(It f( )= find a formula for 7 ( )

1
x’
(5) J dy =9 (6)Let f(x,y)=xe’ find the maximum rate of change of / al the point(2,0).

3 4 —— :
(7 fLycos(xz)dxdy =7 (8) Find the interval of convergence CIKRLET) of the power series z ———————— )
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9) Show that the parabola y=-x* and the line x~4y—18=0 intersect at right angle at one of their points
I 8 p

of intersection ( fA: ~ﬂ_|355uf2“ DU fHZ) .

(10) A ladder (ﬁ’:‘.) 10 feet long rests against a vertical wall (3 EER— B ) . I the botiom (JE&) of the
ladder slides away (¥8Bf) from the wall at a rate of 1 fi/sec, how fast is the lop of the tadder sliding down the
wall when the bottom of the ladder is 6{( from the wal{?

(11) Find the volume of the solid obtained by rolating ( fg##) the region ( @) bounded by y=x—x?and
y=0 about the line x=2.

(12) Determine whether Z— ——————— converges absolutely, converges conditionally, or diverges ( 5 #4855/ 14

Brz 1)

(13) The plane x+y+z=1 cuts (§Ji&) the cylinder ([E[#1) x® +y* =1 inan ellipse ( 5181) . Use Lagrange
mullipliers to find the points on ‘the ellipse that lie closest to (f&3iff ) and farthest from ( % i) the origin (&
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